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Hed BR R T4 A 3R R 3R W 3fiedd A ara te SeldaR §9 & dis § g9 ulkad & s &

| o SR R fiw faduor S fean s &

A cantilever beam is subjected to uniformly varying load having zero value at free end and
maximum value at fixed end. The deflection of beam at the free end is given by

(a) -wL#/20EI (b) wL4Y10EI (¢ wL440EI (d) wL%/30EI

afe TR Ufed 20 THWT (6) @R 10 T T (@dte) &, aF aiftidan eroReuu fae @ g ?

If the principal stresses are 20 Mpa (tensile) and 10 Mpa (compressive), then what is the
maximum shear stress?

(a) 30 Mpa (b) 5Mpa (¢) 15 Mpa (d) 20 Mpa

I TR SR §TH BT HUEYU § SRGY TRIed g, o, §TH IR s T g ?

If the shear force diagram of a simply supported beam is parabolic, then the load on the
beam is

(a) TAM ¥4 ¥ f9aRkd @8 / Uniformly distributed load

(b) T U IR Hobfad ars / Concentrated load at mid span

(c) T YT R foramsfiet argr 7fd / External moment acting at mid span
(@) W% wu Y fFafta {ad @€ / Linearly varying distributed load

% R W haw 3R godl ©R W Gad U ST S daTs B! Ife g1 foar Sl 8, of Ier fbfes dts @
B

The length of the column, fixed at one end and free at other end, is doubled, then the Euler’s
Critical load gets

(a)  SMYTn & / Halved

(b)  GTNE &/ Doubled

(¢ TIAS Y% Bral &/ Becomes % of original
(d) 5 uftad 8t / No change

¥z O TFRT UR F 1Y g FARR 1 & Tree BN P MR W i 2 87

What is the reaction at support of the propped end of a propped cantilever beam with
concentrated load at the centre?

5p 5p 3p 3p
() 16 (b) z (©) 6 (d) -

TA-03 3 March 2020
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6.  [Ts®! Bl 180° TF Vel €M & R, 39 Sxam W T Hygad feot & 87
The type of hinge used for fixing a window shutter to swing up to 180°
(a) g9/ Butt hinge (b) TUaFI i / Piano hinge
(¢)  uifergdie f§T / Parliamentary hinge (@ Suda §fi/All the above

|
7. o6 P T T B gHTS o 82
The unit of Kinetic viscosity of fluid is |

(a) N sec/m? (b) cm?/sec

(c) One Dyne (d) MPa

8.  =er ‘d R FUE T aTe U ATAISR W BIF B FHeEieR AT g | afg wie &7 W TR 3R o

TR T &, T, 961 TR ° 6 & g B $HaTg o ghi?
A rectangular plate is immersed in water vertically having breadth B and Height H. If the

top level of plate and water level are same, then the height of centre of pressure from water

level is
(a) 2H/3 (b) 3H/M4
() 4H/3 (d) 3B/2

9.  urdht B SRR U T B 87

In Venturimeter the divergent angle is

(a)  >UdfRIHI BV />inlet Angle (b) <WARHI HIU/ < inlet Angle
()  =WafR@I &I/ =inlet Angle (d) s TaY eI/ No relationship exists

TA-03 4 March 2020
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10. O H el srgedrell W faER S/
Consider the following impurities in water
(1) COsq
(2) ‘E‘L&ﬂ-ﬁ’lﬂﬁiﬁ fAifed a=q / Finely-divided suspended matter
(3) TSRS ST/ Disease causing bacteria
(4)  3ff¥® &Rl / Excess alkalinity
et e HoE A 37 Ssanell &1 5T o1 Ul HH &1 Bl 67 g
The correct sequence of the removal of these impurities in a water treatment plant is
(a) 1,2,3,4 (b)) 1,4,3,2
(c) 1,4,2,3 (d) 4,1,3,2
11, SETY. 10500-1991 & SFTHR U9 S H SafRre Tad TR St Sifar a7
The desirable limit of residual free chlorine in drink water as per IS 10500- 1991
(a) 0.3 ppm (b) 0.2 ppm (¢ 0.1ppm (d Nil |
12,  GE-I9 G-I 1y sy ofk 98! Sk gi-d
Match List-Iwith List-II and select the correct answer
FeTList-T HellList-11
A. 3y G Yot/ 1. 9HM a€ U4 &g WaTe U/
Dead-end system Equal pressure and multiple flow paths
B. Trs vt/ 2. Maaafiad dgferd S &/
Grid system Both economy and reasonably equal pressure
C. Ry 3. fHqeafddr vd e/ Economy and simplicity
Ring System
D. <f&ga/ Radial 4. TR faeRul/ Zonal distribution
Codes:
A B C D
(a) 3 2 1 4
® 2 4 1 3
(c) 3 1 2 4
d 2 1 4 3
TA-03 5 March 2020
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13.

14.

15.

16.

17.

wieR &7 SudT b Ao ¥ R feean ST 87

Planimeter is used to measure
(a) &AWk / Area (b) #mad / Volume
(¢) dars/Length (d) uRfY/ Perimeter

U Y@ H1 3 o490 52° E@ R ey 7 Ard 08, D, T &1 g fefar o grm?
If “Fore bearing” of a line is S 49° 52" E (assuming there is no local attraction), the back
bearing of the line will be

(a) S52049°E . (b) S49°52’E
(c) N 49° 08 E (d N 4952 W

W@ﬁ%wﬁmmmmmﬁmmﬁﬁm%
Which one of the following methods of levelling eliminates the error due to curvature and

refraction?
(a) TS gHdEH / Fly Levelling

(b) 317 gI3¢ Td U Hisc F o= DI @ﬂ ® GAF B §C 9Ada/ Levelling by equalizing the
distance of back-sight and foresight

(c) [rae @1 wiig / Check levelling
() URYE FHAE / Precise levelling

e fiig R aur sl SR ST yge & A F BT ————— B¢

Angle between true meridian and magnetic meridian at a point is

(a) g fegare / True declination (b) HIbE fegurd / Magnetic declination
() f&U/Dip (d) f&@rd/ Declination

aith ey Frerfeg A EH FReTaTe e geHe 87

The transverse slope that is provided in road for easy drainage of water is

(a) 8= 3~/ Super elevation (b) PR / Camber

(c) Ifsde/ Gradient (d Tﬂﬁﬂﬁﬁ@ﬁé?ﬁﬁ/ None of the above

TA-03 6 March 2020
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18.

19.

20.

21.

TA-0

o1 % SR 2 T B e T & 9 FEared § 9 5 g & ofu s # siftiedn faus
grm?

Neglecting head loss due to friction, which of the following pipe cross section have maximum

discharge

(a) O 2 Hl. ¥ &1 g / Circle of Dia. 2m
(b) A 3 . m&a%wa'rg f1YsT / Equilateral triangle of 3m side
(c) D 2 . gred & 1% / Square of side 2m

(d) D 2 ™. g iR 1 W g2t ¥ YHFIGR UTed darg &1 9Had / Trapezium of 2m height and
1m and 2m parallel side lengths

gfg |2 /2 2VZ o =y, @l y BT A 1 57
If #2,’2 B 7 o0 =y. Then find the value of y.

(@ 173 (b) 1.41 © 2 d) oo

a2 Tt wh ge & weEd #, df 3T el S IMhe w1 B
If lines perpendicular to each other, the product of their slope is

@ O b 1 © -1 d o

I @ § TR B A1) Siple (MREE) ¥ R SETE. 456-2000 GRI WG BIHIC BT LAH TS
w87
The minimum grade of concrete (RCC) recommended by IS 456-2000 for concrete exposed to

sea water spray is

(a) M25 (b) M30 (© M35 (d) M40

3 7 March 2020
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22. W3¢ o quted ame fead oA T8l 81 Tifew?

Compressive strength of country brick should not be less than

(a) 10 N/mm? (b) 7.5 N/mm? (¢) 5 N/mm?2 (d) 3.5 N/mm2

23. 170 @ fart AeE & Ty 2 1. F TR A & S WA gaird SIS BT dad g0 T E?
Moment of Inertia of a hollow circular section with outer dia 2m with wall thickness 1m is

(a)  1.48 m* (b) 1.08 m¢ (© 0.74 m# d 0.64 m*

24.  3ME.UH. 456-2000 % FTIR dig ISR WId o UTdiH0 & o SHTaxae gad SRyl fFam g2

According to IS 456-2000 minimum cover required for steel reinforcement subjected to severe |

exposure is

(a) 25 mm (b) 30 mm (¢) 45 mm (d) 50 mm

25, 3fftrpan ufdes & wu 7 uRHiT g, S 4R & RIGT SRUERT & w01 Wi Sy e g &, @

e &7

The strength defined as the maximum stress at which a steel section fails under repeated
application of load

(a)  ifad a1/ Fatigue limit (b) T W / Impact strength

() T EEE / Tensile strength (d) Ot wHa/ Compressive strength

26. Y & fAfdwe @ &) fgd gRI AT Sa 82

Specific gravity of cement is measured by

(@)  T-TMATIY FeATEh [Le-chatelier flask (b) dSTSHIE 3R / Vicat Apparatus

(c) Hifem /Sieving (d) o qroT=Idn T8& / Air permeability test

TA-03 8 March 2020
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97, UHd fpaTHiie ST Uy P 3dheye Rl i gl 67

The output discharge from a single acting reciprocating pump is

(a)
(b)
(c)
(d)

28. G-I (Ride A g arc Srea) B -1 (g Trer giie) ¥ a1y frersd iR el SaR e

Match List-I (Impurities to be removed from sewage) with List-II (Treatment unit used) and

T ol % 91y YR tEar € / Continuous with constant discharge
WeaH fags / Pulsating discharge

rafe U 3 Ry FRar fage / Periodically varying Continuous discharge_
o ofR 9T & oA T TR eTRd / Depends of the head and rated HP of the pump

select the correct answer

Codes:

(2)
(b)

(©
CY

AT List-I At List-IT
A. geq WIgHH a¥d/ 1. fewfam fheew/
Large floating matter Trickling filter
B. RR-T 3ford %] / 2. U AR/
Settle-able inorganic matter Primary Clarifier
c. Fifer o a%g/ 3. P&/
Suspended organic matter Grit chamber
D. ﬁﬁftﬁgﬁ'—d@ 4. ThH/ Screens
Dissolved organic matter
A B C D
3 4 2 1
3 4 1 2
4 3 2 1
4 3 1 2

99,  Wo @l T HERAT BT HRU T §?

Temporary hardness of water is due to

(@)
(b)
(c)
(d)

TA-03

Febe U9 gaR1ES / Sulphates and Chlorides

FTEAC U9 SgPrae / Carbonates and bicarbonates
Pl Td Getbe / Carbonates and sulphates

Felbe U9 Ecc / Sulphate and nitrates

March 2020
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30.

31.

32.

T 309% Siiafkes afurareht Ter &1 Ay ok aftba ured 4 I19 Siurd a1 §Rm?
For a sand having an internal friction of 30°, the ratio of passive to active lateral earth

pressure will be

(@ 1 b 3 (0 6 @ 9

G-I (FaT & WaR)®! GEi-11 (Sugad Ha) & ary e ok =t & = 33 78 #1si &1 I9ui #d §U
el 3R g

Match List-I (Type of soil) with List-II (Suitable foundation) and select the correct answer
using the codes given below the list.

HAMList- I | WEfList-1I

A. I8 R ® geg qal/ 1. ue ta/ Raft foundation
Strong soil in surface layer

B. 4 dd & 1 IUT TEXTS A IeH & 2. GYdhd B/
1Y gaiel Teg Wa/

Isolated footing
Weak surface layer followed by rock at

shallow depth below ground

C YyERFRgodcd oo ldgauammwa®y |3, ofd uikar iy
B gai/ End bearing pile
Swelling soil in surface layer extendingup to a
few meters below ground level

D. gad AR g Jal Ra/ 4. e AVHERR/
Weak heterogeneous surface soil layer Under-reamed pile

Codels:

A B C D
(a) 1 4 3 2
®) 2 3 4 1
(c) 1 3 4 2
@ 2 4 3 1

e & @ wdemafiie R yeR Bt ga1 87

Which of the fbllowing is the most expansive type of soil?

(a) ©exEe / Laterite (b) WWTFIHBT / Black Cotton soil
(©) g/ Gravel (d) et Ter/ Sandy soil

TA-03 10 March 2020
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33. fer e A A WY T AT | SR TR (@R), [H6TE o1 deie TRER 4 H /A, B IEE A0 U S |
RIPTY 3 AHUS] F a1g rgT & 5 e I8 & e 2 AR ag 5 WA B geE TR @ y=id &1 et $Rd §
| afE R Hae 59 =, yrTaT & Red §1e G& SibR ¥ 9K 8, d, T1 faw TRid $f s wim ?

Vikas was having a cup of tea at the side of an empty street. All of a sudden Prashant (thief)
pickpockets Vikas’s wallet and starts running at the uniform speed of 4 m/s. Vikas realises
that he has been pickpocketed after 3 seconds and starts chasing Prashant at uniform speed
of 5 m/s. If Vikas can only run for 59 m after which he gets tired and stops, can Vikas catch

Prashant?

(a) e B UNa B gbsa H 1 Hl. § TP Sl 2 / No, and he misses Prashant by 1m
(b) B T8 TIRId B 59 . yHe A1 & / Yes, he catches Prashant in 59m

(c) e, 98 UNid & Ueped | 2 . ¥ IP Sl %/ No, and he misses Prashant by 2m

(d) o 98 u=id ® 58 M. H Usg Al § / Yes, he catches Prashant in 58m

34. e I IR W, v @@ aur & A e g | & 7 ages U et s e |, g Tie e gn
' T U fore 22

A bag contains four white, five red and six blue balls. Three balls are drawn at random.

What is the probability that all of them are red?

(a) 1/22 (b) 3/22 () 2/77 @ 291

35.  [IVsinxdx =y, yBl AF F1 8
/2 o o m
J,"' " Sinx dx=y, Find the value of y

(@ 1 (b) O (© 0.50 d) o«

TA-03 11 March 2020
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36, o o I devs Wy A Wi ifman eigeed e w82

The maximum longitudinal pitch allowed in bolted joints of tension member is

(a) diee ¥ o BT 16 T 3ryar 300 Al S off 9 81 / 16 times the diameter of bolt or

300 mm whichever is less

(b) diec & TN BT 32 AT YAl 200 fir, o +ff ¥ 8 / 32 times the diameter of bolt or
200 mm whichever is less.

(c) Wi $I AICTS BT 16 THT 3{YdT 200 fireft, o« $H B / 16 times the thickness of the plate or
200 mm whichever is less

(d) Wi B TS BT 32 AT Yl 300 fire, S +ft 33 8 / 32 times the thickness of the plate or

300 mm whichever is less

37. Fed155 415 ® &7
In Fe415 what does 415 implies?

(a) fy=415N/mm? (b) fu=415N/mm?
(C) frracture = 415N/mm? (d) foate = 415N/mm?

38. R ¥ wm gmd & Ry eRofyg s o1 Aifite 91 67

The Bogue’s compound responsible for ultimate strength of cement is

(a) CsS (b)y CoS
© CsA (d) C.AF
39. AR S U oI BT SR FHH LB UR Hl——— %EIa 8
For first class brick the water absorption is ————— % of its dry weight
(@) 20% ) 22.5%
(© 25% (d) None

TA-03 12 March 2020
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40. PIeaueT® B9 () ;99 T F 9y B7% WA F Q) e $ 9 $ A e R siftie w3
HEGH A Bid! & i TR L & Il &

SR (R) : 5a B AT ATqHH P AT R g 8

Assertion (A): The movement of two blocks of wood glued together with hot glue requires
greater and greater effort as the glue is drying up.

Reason (R): Viscosity of liquids varies inversely with Temperature.

(a) ‘TIUR I Tt § R R T ¥ fRu Ud) fdaRu 8 / Both A and R are true and R is correct

explanation of A

(b) T § 'R’ ST Hel § R AR ‘Q’%ﬁqﬂﬁﬁmﬁ%/BmhAand R are true and R is not

a correct explanation of A.

(0 . ‘@ UEIE M IR TG R/ A is true and R is wrong
@ o & SR 3R el € / A is wrong and R is true

41, P § & S w98 87
Which of the following statements are correct?
1. g¥or &R o YU vaEEH e 9 & e} ud Rufd w anenfd §idT € / Friction and
pressure drag depend upon the shape and position of immersed body in a flow

9.  Of ue Udd W B vaTe B R & gHmieR & 7@ W6 7, @Y, €6 SN0 Y §al € / If a thin

plate is kept parallel to the direction of flow, then the pressure drag is zero

3. of2 % Uad Qe @) IAHEE aXd $ dead 3@l WaT 8, o, 990 SN0 L Bl ¢ / If a thin plate

is kept perpendicular to the moving fluid, then friction drag is zero
(a) ®aad1d2/1and 2only (b) HIA1d3/1and 3 only
(c) FHaa2 a3 / 2 and 3 only d 1,293/1,2and3

42, e o IR o el ¥ R o e TR @Y eRaTE ot R <R
For a high head but low discharge which type of turbine would you recommend?
(a) g Wi Ueed 9%/ Multiple Jet Pelton Wheel
(b) Wi T&ET / Francis Turbine
(c) H earg / Kaplan turbine
(d) <X e/ Turgo turbine

TA-03 13 March 2020
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43.  fz=ures $UE() : Wielt gar R yad Saet & Fafo @t ) guag ger w At veet # gen § di
gl
PR (IR) : TS BT &R YT & ATHT & TR MeTRa § 3R Wfteft 71 & orgee era 7omg Hay &
AUF 7

Assertion (A): The rates of settlement of building structures on sandy soils are faster

compared to those of buildings constructed on clayey soils.

Reason (R): The rate of consolidation is dependent on the permeability of soils and the
permeability of sandy clay is more than that of clayey soil.

(a) ‘T g 'R’ ST U8l & 3R ‘3R’ T HT el {0 8 / Both A and R are true and R is correct

explanation of A

(b) T 3R ‘IR el § SR ‘3R’ T BT TE! fFaRU AL ® / Both A and R are true and R is not a

correct explanation of A

(c) T Rl 8 3R ‘AR’ T & / A is true and R is wrong

(d) TITAdE MR AR TR/ A is wrong and R is true

44. [ UM (3) AR WA S o9 FT Y 39 TR AT el 82

Relation between void ratio (e) and porosity (n) is given by

i el B el
n n
n n+l
© T @ o=

45.  HETITS IUSU ST IUANT fehetent et e & for fowan Siran 82
Casagrande apparatus is used for determination of
(a) S YA/ Plastic Limit
(b)  EIEMHAT/ Liquid Limit
()  Hgaa M/ Shrinkage Limit
(d) Bﬂ"iaﬁ T Y HIS 981 / None of the above

TA-03 14 March 2020
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46.  [(sin® + Cosp)dp = HT M &I 8?

47,

48,

49,

Value of [ (sin@ + Cos@)d@ =

(@ 0 M) 1 ) 2 d 3

TP 9 g O B e &1 e fuia S e Wi o 2 @, a9 @1 4 1/ R e
373

Determine the volume of frustum of a right circular cone whose top diameter is 2m, bottom

diameter 4 m and height 3m

(@) Tzmd ®) 6zm? © 5zm? @ 4zm?

T guaTel Ul i BX% 3107 A5 Y ST & Y WEar § | ek, T8 20 T e ardl Uh g heR
2 fex gy B Frerees o it ®ar € | ol gy B @ .25 Uf ex § SR Ol 8t A . i
X 8, Y, T 100 R §U Y el YS9 X GUAT P! foberar & Bierl grm?

A milk dealer decides to cheat his customer by adding water. Therefore, in a filled milk
container of volume 20 litres, he replaces 2 litres of milk with water. If milk costs him Rs.25
per litre and water cost him Rs. 1 per litre, what is the profit the dealer makes by selling

100such filled milk containers?

(a) Rs. 10,000 (b) Rs. 8,000 (¢) Rs. 4,800 (d) Rs. 2,500

F(x)=log (x3-3x2+4x-4) at x= 2 ®THHA T 7
Value of F(x)= log (x?-3x2+4x-4) at x= 2 is

@ O b 1 (c) o (d) Indeterminate

TA-03 15 March 2020
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50.

51.

52.

53.

54.

4 dOE P 6 SRR MW F oR R fraria 20 fr=ea &1 gdfed 4R ok F= H awia
40 5. IR T | SR T SR MR UR &b 3imyuf 1 gar sl

A cantilever beam of length 4m has a concentrated load of 20kN acting at the end and
40kN acting at the centre. Find the support reaction and bending moment at the support

(@)  60kN, 240kNm (b) 60kN, 160kNm
(c) 30kN, 200kNm (d) 30kN, 160kNm

T I T SR Ul STF UV UM F SR & | SHBT UIaEH S(UTd 41 g ?
The Bulk modulus of a material is equal to its shear modulus. Its Poisson’s ratio is

(a) 0.225 (b) 0.125 (c) 0.355 (d 0.5

ey % o §F & Tuits uaeH @1 ifidad 8Fmd Y fGa T 87
The maximum area of compression reinforcement in beam, without overlapping is given by

(d-effective depth, D-Overall depth, b-breadth)
(a)  0.04bd (b) 0.04bD (¢ 0.12bd (d) 0.12bD

31$.T9. 800-2007 ERT TXId Tlshd YR F HRUN W Ufae & IeHhAU YHITd b TG a8 BT el Sfurd
e
The effective slenderness ratio recommended by IS800-2007 for a tension member which is

subjected to a reversal of direct stress due to live loads is

(a) 180 &1 3ff¥i®aH / Maximum of 180 (M) 250 FT 3HfHaH / Maximum of 250
(c) 180 ®IYAdH / Minimum of 180 (d) 250 ®FgATH / Minimum of 250

U geiid Bie H pefer vaeideu & Y wged 48 1 sifidan o 12 il § | < <8 &1 oo @
grar 87
Max diameter of bar used for helical reinforcement in a circular column is 12 mm. The

diameter of tie bar is

(a) 4mm (b) 6mm (¢c) 8mm (d) 10mm

TA-03 16 March 2020
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55. UHURUH UF 10 /A B R A TG IEI ¢ YW w1 SR A 71 % g @7 Srura 4 geme

6.

57.

58.

In a pipe, water is flowing at the rate of 10 m/s. What is ratio between the entrance loss and

exit loss?

(a) 0.5 b 1

() 2 @ 4

27°C TR OICT B! FU 1 BIell 07

The density of water at 27°C is

(a) > lgm/cc (b) <lgmlcc

(©) = lgm/cc (d) &% HEY 781 / No relationship exists ‘

ol @) & A ¥ e & e urEl @1 Suhi e S ReT § | o S i urgal &l iR U § Sirea
& gFaret < g1 ok g B Sirga W 8 areht =i 71 Y e # v S, &, ursy & Waw iR Ferh
¥ ot inf &1 &1 SuTa T g 87

Three identical pipes are used to carry water. The ratio of head loss between the entry and
exit of the pipes, when the pipes are connected in series to the head loss when connected in

parallel is

(@ 1/9 ® 9
© 3 @ 13
IEET T S IATad 38 WHRRA 8, ——— W RE S

Buoyant force acts at the Centre of Buoyancy which is at the?

() fawfd 5 F1Fad / Centroid of liquid displaced

(b) 1% FEfEE HmH %%® / Centroid of the submerged portion of the body
(c) T D Eea BT Fad / Centre of gravity of the entire body

(d) ?‘Fj%?' A1 H5® / At the meta centre of the body
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59. EI- I (arg UguUnd! FE-11 (@RI wHTE) 1 firemsd ok Tt & A9 fal T P @1 IudT FRd §U
el SR g

Match List-I (Air Pollutants) with List-II (Harmful Effects) and select the correct answer

using the codes given below the list.

HellList-I FelList-11
A. SPM 1.3 ST/ |
Blood Haemoglobin !
B.NO 2 T/ Vegetation |
C.CO 3. 399 UUTdll/Respiratory System
D. SO: 4,38 Rl
Building Materials

Codes:

A B C D
(a) 3 4 1 2 |
) 1 2 3 4 }
(c) 3 2 1 4
@ 1 4 3 2

60. A TETUREY T 9 @ A HHW: na = 40% R np = 60% WAL E | eazen [T HIHT H1 3FUTE T 82
Two soil samples A and B have porosities na = 40% and ns = 60% respectively. What is the

ratio of void ratios ea:es?
(a) 2:3 b) 3:2
() 49 ' @ 9:4
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et aeqE TR F U4l & T o T WE 3T % A A 37, 3T A o Wy 3t erd I % g wew e

el S| foRet war % fore R © SAfEreR 3w S e Ie A S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.
e et o gt 3t S % R A @1 B @ € @1 D ffga forn mn 2, 5@ oftum.em. e w, Se9 d§

foree e seer s sifiar B) T T A W, S-S Hedisd A8l R S|

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

yfGerhT o IUTEY SHTE hl STTGYIhdl & TTHR el I o ToIC TN foha <1 whal & | 3TerT | Fie Tal & S|

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

Sufeufy sfie o sEaer w8 ygat, gdenefl = sufeuly e w yfeqe =i foramn g wlaneff st arad am s ama
&1 e F |

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.

Candidates should sign against THEIR names only.

Tiem % ofa § (1) $ie e fRea wen & wid dd (2) I9 L., I Hie Flies @ ame w S an
fepelt oft ofifeafy o spaeff 5@ 7 & )

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.

*kk
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